E 3600-0215



E 3600-0215

Position
Ref.No.
Repere
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

Position

Ref. No.

Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

16

16

12

12

11001481

25030002

11001188

25038029

21000658

20004059

25038023

20029030

20029030

25031006

11001720

25038013

20029033

11001721

21000981

25038014

20029025

20005005

20029001

25031004

11001195

20013290

25017201

25044005

20029011

11001196

11001636

21000589

20029003

11001193

DIN908-M14x1,5

DIN933-M20x70

DIN933-M16x25
SKM 16
SKM 16

DIN934-M16

DIN933-M10x20

SKM 10

DIN933-M10x25

Nord-Lock 10,0

VSK 10

DIN934-M10

DIN912-M8x20

VSKZ 8

DIN7964-M8x30

VSK 8

31

32

33

34

35

36

37

38

39

40

20013290

25044005

20029011

11001194

20013290

25044005

20029011

25030016

25008012

20020562

DIN912-M8x20

VSKZ 8

DIN912-M8x20

VSKZ 8

DIN910-M10x1

DIN7603-10x16x1

02.15




